HRBENR=NT 4 7 AR
BB HEES >N —

BEE T RET

BEEDAS T O S AW BEEWE - SELPI VIV — TR

20244E2HTH

ZRPMBLERER -1

ALk

E¥M4 . IFH S IUHA RSSO RE¥ER. e (2023)
ek | | aruggs F1-PS-211, F1-1CH-476
Bk R 2024F2HTH ©(8:41 ~ 13:58)
5 352 MRS R | BRI E @Sv/h) "
?%]o’t (:éﬂ ']FTk%ggfr\) PREY (nSv/h) (2024415 30H) fhi%

| [k BETE A I BT (55 1 40 LB £ —
2 K e I BT (55 2 b)) R = =
3 Pk BEEan I R (5 3 B~ %5 8 1) B — —
4 Tk B I T (55 O ) H ot TUBE 0. 005 0. 005
5 [ e BE T IR (55 O ) b 1S LB 0.001 0.001
6 1A B AT R (55 O ) b 1B je 3 0.001 0.001
1 R BT I R (10 BE) 10-A HEH - —
8 Tk BESE I B (1 0 t) 10-B L = =
9 [E BEE I (1 0 4iE) 10-C RER — —
10 —HRETIYTAL B 0.002 0.002
11 —BRETY T A2 TS 0. 052 0. 050
12 —IE%T) 7 B jen 3 0. 003 0.002
13 —RETY T C LB 0.001 0.001
14 —B S T) 7D e 0. 002 0.002
15 —MRETYTE 1 TR 0.003 0.003
16 —MRET)TE 2 R 0. 006 0. 006
17 —WRETYTF 1, F2 B 0.002 0. 002
18 —MRETY T ] B — =
19 —MHRETY 7L B 0.001 0.001
20 —BHRE T TN RER - =
21 —RETY 70 HEE 0.002 0.002
22 —BRETYTP 1 LB 0.003 0.003
93 —RETUTP 2 R 0. 004 0.004
24 —RETY T U LB T i
25 —MRETYTV TR - IR (A - i) — —
26 —BHRETY TW RESH i -
27 —BRETY 7 X HEA = =
28 —IEEEIY T AA TURESA (00 3 PR A5 0.001 0.001
929 —WRET) 7 BB e 0.001 0. 002
30 —IRETIY T CC jon: 3] 0.002 0.002
31 —IE%E T 7DD 1 - DD 2 FES 0.001 0.001
32 — I fETY 7 EE 1 B 0.001 0. 001
33 —MRETYTEE 2 B 0. 001 0. 001
34 —H ST 7 d i3 0.013 0.013
35 —HRETY T e HESR 0.010 0.010
36 —HRETY 7R (PEAN) | LB (0 5 R K %) 0.001 0.001
37 —I RS ) TR (HAR) TR (00 % el 4259 0.004 0. 004
38 —IRETY 7 TR (0 % (R K 5 0.001 0.001
39 — RIS T Y 7 m (5 0) LR — =
40 — A T ) 7 m (75 01) B — —
41 —RREL) 7 n B — ==
42 —WEEETY 7 G (LMEA D) FURESA - (RERAC (BEEAR) 0.001 0.001
43 —IERETY 7 G (EMAEAD) TR - (RERA (RESER) 0.001 0.001
44 —BERETY 7 G (LaEm) TLEEE - (RIFA (1R) 0.001 0.001
45 —BFRETY 7 H dEmAEA D). FEOE - (RIFA G - 810) 0.001 0.002
46 — BT Y 7 H (EMEA D) LRSS - (RITA (SRR - i) 0.001 0.001
417 —BERAE T 7 H (L7 ) TREH - (RIRAS (REEEAR - 4R) 0.001 0.001
48 — BT Y 7 M (FA D) LR - (RIPA (1R 0.001 0.001
49 — T ) 7M HAD) TR - (RATA (B 4R) 0.001 0. 001
50 —BFRETY T T TLBEE - (RRA (SR — —
51 —IRETY) Ta {0 35 R A = =
59 —WF T 7 B o (R A 0.002 0.002
53 —BRET) 7o Bl 355 (26 4 5 0.001 0.001
54 —IRET) T 11 355 (el A 5 0.001 0.001
55 —WRETY T 8 35 (2 2 — =
56 —WRETY To 007 10 355 (ol 2 55 0.001 0.001




HRENR—NT 1 27 ZAtkA &t

20244E2A8H
wBE—BEPHESD >N —
B — T I BB
BEEYME T OS5 LM BEEME « SECPI TV — TR
ZHMREMER Y— A1 ek
E%H4 . IFHIIUMARSSIO REER. ZFEat (2023)

— , | armes F1-PS-211
przam| | 20244E2H8H (8:43 ~ 12:52)
5 )53z ¢ - ZeAR RS S | AiERE i (aSv/h)
?f‘i]o.i (J“_ﬂ 'jJ/L ﬁ%ﬁ;ﬁﬁ) e l‘ ::Sv/h) (2024415 311) L

1 B A B S R (565 1 D) LB 0.007 0. 007

2 1 s S TE T BT (45 2 ) HEH 0. 004 0.004

3 B BE A M REE (585 3 b~ %45 8 440) LB 0. 004 0. 004

4 T S MR (555 O B41) H 2B R = =

5 B BETEAn T R (555 9 A MR 1B HEEH = —

6 L FE ST T (55 O b4E) o I 1 B LB — —

7 [t BEE IR (1 0 H0) 10-A FEH — e

8 Ik BE A A (1 0 441) 10-B HBSR = =

9 [5 4k e 4ty i (1 0 44) 10-C LB — —

10 —BRETUTAL RS o =

1 —H ST T A2 LB — =

12 —MERETY 7B TR — —

13 —IRETY 7 C HER — —

14 —BRETY 7D LS — =

15 —IRAETYTE 1 B — =

16 —RETYTE 2 LB — =

17 —MRETVUTFL, F2 LB ! —

18 —BREETYT] TR 0. 005 0. 005 SR EERURES ST SR DERRRLDED

19 —WERETY T L B — = ;

20 —BRETY TN HES 0.001 0. 001

21 —BRETY 70 B — —

29 —BRETY TP 1 HEA = =

23 —BERETYTP 2 B — =

24 —BRETY 7 U a2l 0.001 0.001

95 —MREETY TV TR - Rk (B - 64 0.004 0.004

26 —RETY TW HER 0.003 0.003 »

27 —BRETYTX TLER 0.019 0.019

28 —WRETIY T AA TLBEH (G0 (R 5) — —

29 —M{RET) 7 BB SR — =

30 —RETY T CC LB — —

31 —MRETY 7DD 1 - DD 2 JLEER — =

32 — I RETY7EE 1 S — ~—

33 —BRETYTEE 2 HRR — —

34 —IRETY 7 d S = —

35 —HRETY T e REA - —

36 —ERETY 7k (A L) TLBESR (00 i (Rl 45 — =

37 —IFRETY 7k GEAD) TLBE (00 3 e 4<% — —

38 —WRETY 71 TLBESE (0 % el ) — —

39 — WA T ) 7 m () TLER 0.034 0.034

40 —BERFE T Y 7 m (75 () R 0.008 0.008

41 —MRETY 7 n TLEA 0. 100 0. 100

42 —WRET Y 7 G UEMfAR) FLEE » IR R — =

43 — MRS T 7 G ULMAEA D) TUBESA « (RHA (RS — =

44 —MRET) 7 G (L) LB - (RITA (1R) — —

45 —WHRE T 7 H ULMEHEA D) TUREHR » (R4 SRR « #318) — —

46 —BEfEET Y 7 H (LA D) TUBESA - (04T (RS - % 1R) — —

417 —WRAE T U 7 H (L ) TLHEE - (R (RESEAR - 1R) — —

48 —BRETY 7M ([AL) FLBES - (RITA (R 1R) — —

49 —BERE T 7 M (A D) TR + (RIFA (4R) — —

50 —RETY 7T TUREHA - (RIFAR (R 3EAR) 0.001 0.001

51 —BRAETY 7a 08 11355 (ol A 5 0. 005 0. 005

52 —WFRET ) T 5 375 R A — —

53 —B T 7L ol 5 R A — —

54 —MRETY T {35 (R A — =

55 —RETY T i el A 0.004 0.004

56 — I RETY 7o {0 375 el 5 - —




(mSv/h)

BRERENES (KRR

" 24/4/1

1. 000
0.100 =
u
. fad
e B ) =
0.010 o ETETE— AN ——— I
S L s i i« ¢ ’.‘7 ( R
. i ?M\\wf
001 ot g
"20/4/1  '20/8/1  '20/12/1 2174/ T2/8/1 Ca/12/1 T22/4/1 "22/8/1 T 22/12/1 '23/4/1] '23/8/1  "23/12/1
—o— EHEZNRERE (5 0 W 6T e BEERYRRR (5 280 —o0— EAHERYRERE G IR~F e W) —H— —BREIUTA

—n— —BREIUTA2
—t— —HRETUTE!
| —o— —BREIUTN
—BRETUTU
e G E RO RE (70 W) BT IR

et —BRETYTm @)

—o— —BRETIUTB

—— —BREIY7C
—ar— —BREIVTE2 —0— —BRETUT7I
—O0— —-BREIVUTO —— —BREIYTPI
'—A-‘ﬁﬁEIUTW' o —BHRETYT X
—— —BRETV 7 d "—*— —BREIVT e

e —BRETIVUT 0 EH#EEHFER E 8

;—ﬁﬁE1U7D
—BREIVTL

—0— —BRETIUTP 2

—t=— EU$REHFRE Eo @ B IR

e —BRETY T m )

—t— —BRETYTF1, F2

e EEEHRFERE (1 048) 10-A e EGEEHREE (1 085 10-8 EGEZHRES () 0% 10-C Lo —BRETIY7BB
—BREIVUFCC —BRETU7DDIDD2 —BREIVZEE] —BBREIVYFEE2
(mSv/h) WAREWES (RIEAR)
1. 000
0.100
0.010
oom"' B 00— L —
© T 90/4/1 20/8/1 20/12/1 ‘21/1 '21/8/1 1210 /40 " 22/8/1 "23/4/1 ' 24/4/1

—— —BRETY7 G (LEMEAD)

b —BREL YT H (LERAD)

——EBREIUTT

/N
e —BRETY7 G HLEHEAD) —0— —BRETU7 G AR
—BRET Y7 H UEER) —— —BRETY7M @EAD)

———BREIYTV

—t— —BREIY7H {LELAD)

——— —HBREIUT7M(RAD)

(mSv/h)

1.000

BHRERMELS (ERFRER)

0.100

0.010

001
20741 " 20/8/1 " 20/12/1
—t——HEEIY7a

— —EBRELYT

21/4 T0/8/1 " 21/12/1 " 22/41
—H— —HREIUTH

———EREIUTAA

22/8/1

‘22121
—— —BREIVT( —— —BREIUTO

—— B REIVTI

23/4/1

—tt —BRELY 7K (BEAD)

"23/8/1 "23/12/1 ' 24/4/1
——BRETYT )

= —BRELYTk(EAD)




